Solstabridgen
Klubbtavling 2021-12-06

Partavling, 10 bord, 20 par. Antal brickor: 18. Medel: 162.0.

Plac Par Poang % Namn MID Klubb
1 3 186.6 57.60 Lars Risel - Monica Abrahamsson 3552 28950 Solstabridgen
2 19 185.6 57.29 Leif SRangen - Gunnel Lindquist 67883 37312 Solstabridgen
3 6 184.7 57.01 Lena Arlén - Elisabeth Sandblom 55299 63661 Solstabridgen - Karlstads BK
4 12 182.7 56.38 Lajla Haraldsson - Margareta Mattsson 42803 42785 Solstabridgen
5 16 181.4 55.99  Ulf Nedéus - Cecilia Nedéus 37314 37313 Solstabridgen
6 2 177.2 54.70  Anita Wall - Barbro Steen 59115 58634 Solstabridgen
7 4 176.9 54.59  Ake Svensson - Kjell Sundell 33556 3505  Solstabridgen
8 17 173.9 53.66  Mary Ingels - Cecilia Derrett 63662 62747 Karlstads BK - Solstabridgen
9 8 167.3 51.63  Majlis Iverlund - Lars Iverlund 62202 62203 Karlstads BK
10 5 167.2 51.61 Jan Skoog - Ulrike Siwersson 65392 52755 Karlstads BK - Solstabridgen
11 14 164.6 50.79  Per-Ove Soderkvist - Caisa Skoglund 53285 53284 Solstabridgen
12 18 163.1 50.34  Birgitta Gustavsson - Margareta Jonsson 91663 50066 Solstabridgen
13 10 160.2 49.45 Sigvard Stromberg - Bengt Dehring 41236 41235 Solstabridgen
14 15 154.7 47.75  Marie Lundgren - Karin Nordling 63137 65391 Solstabridgen
15 1 150.3 46.40 Peter Hallgren - Margareta Hallgren 35034 35035 Solstabridgen
16 11 149.3 46.09 Margareta Strom - Christer Strom 61534 61535 Solstabridgen
17 13 142.9 44.12  Bengt Nordstrom - Britt Marie Nordstrém 41208 41209 Solstabridgen
18 7 130.0 40.12  Cecilia Melcher-Bodin - Johan Broms 46488 49058 Solstabridgen
19 9 123.5 38.12  Berit Haggdahl - Inga Grumer 23293 31864 Solstabridgen
20 20 117.8 36.37  Birgitta Sanner - Gunnar Sanner 42792 42793  Solstabridgen
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2 9 2¢ N+1 &7 110 13.0 50| 5 17 44 N= vA 420 150 3.0| 3 10 44 N+1 vQ 450 170 1.0
5 17 2¢ N+1 #A 110 13.0 50(|10 7 44 N= vA 420 150 3.0| 5 14 44 S= &9 420 13.0 5.0
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4 13 INS= a2 90 6.0 120(19 6 24 N+2 vA 170 80 10.0| 6 18 INS+3 v6 180 6.0 12.0
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1 17 4v O-2 *6 200 120 6.0| 4 11 24 N+2 v3 170 180 00| 4 11 2v N= ¢A 110 18.0 0.0
3 10 4v O-2 *6 200 120 6.0| 2 18 4v V-3 +3 150 160 20| 2 18 34 O-2 &8 100 140 4.0
5 14 3v 0O-2 ¢7 200 120 6.0| 1 16 24 N+1 v7 140 140 40| 3 9 34 0-2 «A 100 140 4.0
6 18 4v O-2 48 200 120 6.0| 6 15 24 N= v7 110 120 6.0(14 12 34 O0-2 vK 100 140 4.0
9 7 24 0-2 vQ 200 120 6.0 3 9 4v V-2 v8 100 90 90| 1 16 24 0O-1 *A 50 9.0 9.0
12 4 3NV-2 2 200 120 6.0|14 12 3v V-2 43 100 90 90| 6 15 34 0-1 &A 50 9.0 9.0
20 16 4v O-2 &A 200 120 6.0|13 5 3v V-1 aT 50 6.0 12010 8 2#N-1 a4 -100 6.0 12.0
11 8 24 O= A -110 30 150| 7 19 2v V= +3 -110 3.0 15.0|20 17 24 O= *4 -110 40 14.0
15 13 2v O = 48 -110 3.0 150|20 17 2y V= LY -110 30 150| 7 19 24 O+1 3 -140 1.0 17.0
2 19 24 O+1 &6 -140 0.0 180|10 8 2NS-3 vA -150 00 180|13 5 34 0= v3 -140 1.0 17.0
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4 10 44 N+1 ¢A 650 180 0.0| 2 17 3NN+1 #2 430 16.0 20| 3 18 5#V-1 va 50 18.0 0.0
8 9 44 S= +9 620 150 3.0| 8 9 3NS+1 +J 430 160 20| 4 9 3&V+2 ¢7 -150 16.0 2.0
18 20 44 N= ¢A 620 150 3.0|14 6 3NN+1 9 430 16.0 20| 8 17 3#0+3 +Q -170 140 4.0
2 17 44 O-3 «K 300 120 6.0|18 20 3NN= *4 400 120 6.0|16 2 5&V-= v6 -400 120 6.0
3 19 3¢ 0-2 vA 200 8.0 10.0| 3 19 2y N= a4 110 100 80|14 1 540+1 +Q -420 9.0 9.0
13 11 3¢ O-2 «A 200 8.0 10.0| 4 10 44 S-1 +6 -50 6.0 120(15 7 540+1 +¢Q -420 9.0 9.0
14 6 3¢ O-2 &A 200 8.0 100|113 11 3NS-1 +6 -50 6.0 120| 5 11 3NV+1l +6 -430 4.0 14.0
5 12 34 S+1 ¢4 170 40 140(15 1 3NN-1 v5 -50 6.0 120| 6 13 3NV+l +¢6 -430 40 14.0
15 1 2¢0-1 A 100 20 16.0| 7 16 4v N-3 LY -150 20 16.0|12 10 3NV+1 +6 -430 40 14.0
7 16 2NS-1 +3 -100 0.0 180| 5 12 6NS-4 +6 -200 0.0 18020 19 44 V+1 43 -450 0.0 18.0
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5 11 4y N+1 ¢K 450 180 00| 4 19 2NV-3 «Q 150 170 10| 4 19 3NS+4 3 720 16.0 2.0
6 13 1y N+4 T 200 160 20|16 8 1a V-3 &6 150 170 10| 6 12 3NS+4 v3 720 16.0 2.0
3 18 3y N+1 & 170 140 40| 1 13 INV-2 «K 100 120 6.0|16 8 3NS+4 3 720 16.0 20
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15 7 29y N+1 2 140 11.0 70|15 2 INV-2 *6 100 120 6.0{17 3 3NS+3 46 690
16 2 2v N+1 ¢K 140 11.0 7.0(20 11 1INV-2 &6 100 120 6.0| 1 13 54S+2 v3 640

8 17 4y N-1 ¢+ K -50 50 130| 6 12 2v V-1 +6 50 70 110 5 10 54 S+2 42 640
12 10 4y N-1 *T -50 50 130(17 3 INV-1 &K 50 70 11.0| 7 14 54S+2 3 640
14 1 4vy N-1 ¢+ K -50 50 13.0| 7 14 INV= &6 -90 3.0 150| 9 18 5#S+2 v3 640
20 19 4v N-1 ¢+ K -50 50 13.0| 9 18 INV= *6 -90 30 150(15 2 54S+2 vJ 640

4 9 4y N-2 ¢+ K -100 0.0 180| 5 10 2NV= &K -120 0.0 18.0|20 11 54S+2 +v3 640
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